
 

 - 11 - 

 ࢺスࣜࢶ࣮ࣃ .9
 

 

 

 

 

GM-25-63



 

 - 12 - 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

No. 部品ࢻ࣮ࢥ 部 品 ྡ 称 個数 摘 要 

  1 ࣮ࣂ࢝ 20073-21070 1

  取付板 2࣮ࣂ࢝ 20073-41030 2

  完結 1ࢫベ࣮࣮ࢱ࣮ࣔ 20056-21030 3

  1 ࣝࢺ࣮ࣔࢻ࣮ࣖࢠ 20058-31030 4

  1 ࢧンࢹンࢥ 20035-41460 5

  1 ࢳࢵイࢫࣉࢵࢼࢫ 20030-46119 6

  1 ࣉࢵ࣒ࣕ࢟ࢦ 20030-46120 7

  1 ࣗࢩࢵࣈࢻ࣮ࢥ 20208-48411 8

  1 ࣉンࣛࢡࢻ࣮ࢥ 20033-41400 9

  㸦B㸧 1࣮ࣂ࣮࢝ࢱ࣮ࣔ 20039-21052 10

11 20035-41160 支柱㸦A㸧 2 L=30 

  固定具 1ࢻンࣂ 90005-41140 12

  㸦9T㸧 1ࢺࢵࢣࣟࣉࢫ࣮ࢱ࣮ࣔ 20000-41100 13

  㸦16T㸧 1ࢺࢵࢣࣟࣉࢫ 20212-44250 14

  2 ࢺࢵࢼࣅ࢜ 20033-41010 15

16 00992-40120 注意ࣛベࣝ 1  

17 20073-41040 取扱ㄝ明書 1  

18 00980-41670 電源ࢻ࣮ࢥ㸦V㸧 1 L＝5000 

  ェ࣮ン 1ࢳ࣮࣮ࣛࣟ 03003-41034 19

20 01000-00610 六角࣎ࣝ2 ࢺ M6×10 

21 01000-00612 六角࣎ࣝ4 ࢺ M6×12 

22 01000-10612 六角穴付࣎ࣝ2 ࢺ M6×12 

23 01110-00412 十字穴付ࢼベᑠネ1 ࢪ M4×12 

24 01114-00612 十字穴付ࢫࣛࢺᑠネ4 ࢪ M6×12 

25 01200-00403 六角1 ࢺࢵࢼ M4 

26 01200-00504 六角4 ࢺࢵࢼ M5 

 ネ 4 M5࢞ࢨネࣂ 01400-00513 27

 ネ 4 M5࢞ࢨࣛࣄ 01421-00508 28

29 00980-41540 インࢱࢡࢵࣟࣗࢩイ 1  

30  六角棒1 ࢼࣃࢫ  


